INNER OURER THICKNESS & %
W&
.
N O om | B
d D B
670027 10 5 4
—B“
670122 12 18 4 ;
670227 15 21 4 rﬁ ‘
670327 17 23 4
670427 20 27 4 o -t g
670527 25 32 4
670627 30 37 4 ‘
670722 35 44 5
|
670822 40 50 6 LR
670927 45 55 6

=3 )
@ N @

Z-v ZZ-WV
WEE Wit
fhEEE hEs




AmE 10~22mm
B— f
) T
- |
i 1)
],7 i T h.ﬂ }
i ‘ |
e :
! i
5 O
| @
L L
Esiveis
AR zz w DDU N NR
B H(mm) £ A B % BAFIRFE ke HERE (rpm)
g R A
1 1 SEM || C Co | A 2
- T ] waedan o 7777 ou By B
7 V-WH DDUW| ZWH
10 | 19 5| 05 | 6800 - - - - - 135 ( 75 | 38000 - 45000
22 6 | 05| 6900, — S 6900 N NR 212 | 117 | 34000 - 40000
26 | 8 | 05 | 6000] 6000ZZ VvV DDU - - 360 | 196 | 3000021000 | 36000
30| 91 6200| 6200 ZZ W DDU 6200 NNR | 400 | 229 | 2400018000 | 30000
3 | 111 6300| 6300 ZZ WV DDU 6300 NNR | 635 | 365 | 2200017000 | 26000
12| 21 5| 051 6801 - - - - - 150 | 91 33000 — 40000
241 6| 05| 6901 -— - - 6901 N NR 207 | 133 | 30000 36000
28 7 | 05 |16001| — - - - 400 | 229 | 28000 - 32000
28 | 8| 05 | 6001} 6001 ZZ Vv DDU - - 400 | 229 | 2800018000 | 32000
2| 101 6201] 6201 ZZ VW DDU | 6201 NNR | 535 | 305 | 2200016000 | 28000
37 1 12 | 15| 6301} 63017z vvDDU | 6301 NNR | 760 | 450 | 2000016000 | 24000
15 | 24 5105 | 6802f - - - - - 163 | 107 | 28000 ~— 33000
28 7 1 05| 6902 - . 6902 N NR 340 | 205 | 26000 - 30000
32| 8| 05 (16002] - - - - - 440 | 263 | 23000 - 28000
32 9 | 05 1 6002| 60022Z VWDDU | 6002 NNR | 440 | 263 | 2300015000 | 28000
35 | 11 |1 6202| 6202 ZZ VvDDU | 6202 NNR | 600 | 360 | 2000014000 | 24000
42 | 13| 15 | 6302/ 630227z VWDDU | 6302NNR | 895 | 545 | 1700012000 | 20000
17 | 26 51| 05 | 6803 - - - - - 206 | 135 | 26000 - 30000
0] 71|05/ 6903 - - - 6903 N NR 360 | 228 | 24000 - 28000
35 | 81 05 |16003] -— - - - - 470 | 296 | 21000 - 24000
35 | 10 | 05 | 6003] 6003 ZZ Vv DDU 6003 NNR | 470 | 296 | 2100013000 | 24000
0 | 12 |1 6203| 6203ZZ VW DDU | 6203 NNR 750 | 460 | 1700012000 | 20000
47 | 14 | 15| 6303/ 6303zZ VDDU | 6303 NNR | 1070 | 660 | 1600011000 | 19000
20 | 32 7 | 05| 6804| - S 6804 NNR | 273 | 191 21000 — 25000
37| 9| 05| 6904 — - - 6904 NNR | 500 | 330 | 19000 - 23000
42 { 8| 05 |16004] - - - - - 620 | 405 | 18000 - 20000
21201 6004| 6004ZZ W DDU | 6004 NNR | 735 | 465 | 1800011000 | 20000
47 | 12 | 15 | 6204| 6204 zZ wwDDU | 6204 NNR | 1000 | 635 | 1500011000 | 18000
52 | 15 | 2 | 6304| 63047z WwWDDU | 6304 NNR | 1250 | 785 | 14000 10000 | 17000
2] 4 12 60/22| 60/22ZZ VW DDU | 60/22NNR | 740 | 470 | 17000 10000 | 20000
50 | 14 | 15 |62/22| 62/222Z WDDU | 62/22NNR | 1010 | 645 14000 9500 | 17000
56 | 16 | 2 |63/22| 63/222Z7 W DDU | 63/22NNR | 1440 | 920 | 13000 9000 | 15000




AR 25~45mm

<

(@3

o

RARIR 2z w DDU N NR
FETiEmm) 2 A B OB RAEpEENgn__ BIREE (rom)
TeREA | A
(1) (1) [iEE M || C Co | M #

d | D| B r y =% |mme| L 22 DU F) FRE
25 37 7 | 05 | 6805 - - - 6805 N NR 300 234 18000 - 21000
4] 9| o05|6w0s - - — 6905 N NR | 550 | 395 | 16000 — | 19000
47| 8 | 05 |1e005| - - - — = | 95| 490 | 15000 - | 18000
47|12 | 1 | 6005| 60052ZVVDDU | 6005N NR | 790 | 525 | 15000 9500 | 18000
52| 15 15 | 6205 62052ZZ VvV DDU 6205 N NR | 1100 730 13000 9000 15000
62 | 17 2 6305| 6305 2ZZ VvV DDU 6305 N NR | 1610 | 1080 11000 8000 14000
28 52 | 12 60/28| 60/28 ZZVV DDU | 60/28 N NR 975 665 14000 8500 16000
58 | 16 15 |62/28| 62/28 ZZVVDDU | 62/28 N NR | 1310 885 12000 8000 14000
68 18 63/28| 63/28 ZZ VV DDU 63/28 N NR | 2100 | 1400 10000 7100 13000
30 42 7 | 0.5 | 6806 - - - 6806 N NR 355 285 15000 - 18000
47| 9|05 |68 - - — 6906 N NR | 570 | 430 | 14000 — | 17000
55| 9 |05 |16006) - - — - - | 80| 45| 13000 - | 15000
551 13 15 | 6006f 6006 ZZ VV DDU 6006 N NR | 1030 740 13000 8000 15000
62 { 16 15 | 6206 6206 ZZ VvV DDU 6206 N NR | 1530 | 1050 11000 7500 13000
721 19 2 6306 6306 ZZ VV DDU 6306 N NR | 2090 | 1440 10000 6700 12000
32 58 | 13 1.5 |60/32| 60/32ZZVVDDU | 60/32 N NR | 1180 825 12000 7500 14000
65| 17 15 162/32| 62/32ZZVVDDU | 62/32 N NR | 1630 | 1090 10000 7100 12000
75| 20 | 2 63/32| 63/32ZZVVDDU | 63/32 N NR | 2340 | 1630 9500 6300 11000
35 | 47| 7|05 6807 - - - 6807 N NR | 370 | 320 | 13000 — | 16000
55| 10 | 1 | 607 - - — 6907 N NR | 815 | 620 | 12000 - | 14000
62| 9|05 |16007| - - - - = | 90| 760 | 11000 - | 13000
62| 14 | 15 | 6007| 6007 ZZVVDDU | 6007 N NR | 1250 | 915 | 11000 7000 | 13000
72| 1 2 6207 6207 ZZ VvV DDU 6207 N NR | 2010 | 1430 9500 6300 11000
80| 21 25 | 6307} 6307 ZZ VvV DDU 6307 N NR | 2620 | 1840 8500 6000 10000
a0 | 52| 7|05 |6s08 - - — 6808N NR | 345 | 335 | 12000 — | 14000
62 | 12 1 6908 - - - 6908 N NR | 1070 855 11000 - 13000
68| o |05 |6008] - - - - - |1020] 85| 10000 - | 12000
68 | 15 15 | 6008) 6008 ZZ VV DDU 6008 N NR | 1310 | 1010 10000 6000 12000
80| 18 | 2 | 6208] 62082ZVVDDU | 6208 N NR | 2280 | 1650 | 8500 5600 | 10000
90 | 23 25 | 6308] 6308 2z VvV DDU 6308 N NR | 3200 | 2300 7500 5300 9000
45 | 58| 7|05 |es0s) - - - 6809 N NR | 500 | 480 | 11000 - | 13000
68 | 12 1 6909 - - - 6909 N NR | 1110 925 9500 - 12000
75| 10 | 1 |w6009] - - — - - |170] 95| 900 - | 11000
75| 16 i5 | 6009 6009 ZZ VV DDU 6009 N NR | 1640 | 1320 9000 5300 11000
85| 19 2 6209| 6209 ZZ VvV DDU 6209 N NR | 2570 | 1880 7500 5200 9000
100 | 25 | 25 | 6309 63092ZVVDDU | 6309 N NR | 4150 | 3100 | 6700 4700 | 8000




ARk 50~75mm
f
al

.

!

|

‘

RARRS
Y4 vV DDLU N NR
EEFiEmm) HARUSE EATHEEEKe) HRERE R (rom)

2 s Rﬁ%inﬁ;‘% B

1 1 HEE M B C Co | 7
N NI I R VOV W P 777 % DU | MK
EN G V-Vw # DDUWK| ZF
50 | 65| 7 | 05 | 6810 - - - 6810 N NR | 515 | 525 | 9500 — 11000
72112 |1 | 6910 - - 6910 N NR | 1140 | 990 | 9000 - 11000
80| 10 | 1 |16010 - - - - — | 1250|1110 | 8500 - 10000
80| 16 | 1.5 | 6010 601022 VV DDU 6010 N NR | 1710 | 1430 | 8500 5000 | 10000
9 | 20 6210 6210 ZZ VvV DDU 6210 N NR | 2750 | 2100 | 7100 4800 8500
110 27 3 6310 6310 ZZ VV DDU 6310 N NR 4850 | 3650 6300 4300 7500
55 | 72| 9 | 05| 6811 - - - 6811 N NR | 690 | 690 | 8500 - 10000
80| 13 | 15 | 6911 - - - 8911 N NR | 1250 | 1110 | 8000 - 9500
90 11 1 16011 - - - - - 1520 | 1370 7500 — 9000
9 | 18 | 2 | 6011| 60112z vv DDU 6011 N NR | 2220 | 1850 | 7500 4500 9000
100 21 2.5 6211 6211 ZZ VvV DDU 6211 N NR 3400 | 2660 6300 4300 7500
120 | 29 | 3 | 6311] 631122 Vv DDU 6311 N NR | 5600 | 4330 | 5600 3800 6700
60 | 78| 10 | 05 | 6812 - - - 6812 N NR | 900 | 895 | 8000 — 9500
85 13 15 6912 - - - 6912 N NR 1520 | 1370 7500 - 9000
95 | 11 | 1 {16012 - - - - - | 1570 | 1460 | 7100 - 8500
95| 18 | 2 | 6012| 60122z Vv DDU 6012 N NR | 2310 | 2000 | 7100 4000 8500
110 | 22 | 25 | 6212| 621222 Vv DDU 6212 N NR | 4100 | 3300 | 6000 3800 7100
130 31 35 6312 6312 ZZ VvV DDU 6312 N NR 6400 | 5000 5300 3600 6300
65| 85| 10 |1 | 6813 - - - 6813N NR | 935 | 985 | 7500 — 8500
9 | 13 | 15 | 6913 - - - 6913 N NR | 1360 | 1330 | 7100 - 8500
100 11 |1 [16013 - - - - - | 1610|1550 | 6700 - 8000
10| 18 | 2 | 6013] 601322 Vv DDU 6013 N NR | 2400 | 2150 | 6700 3800 8000
120 | 23 | 25 | 6213| 62132z vv DDU 6213 N NR | 4500 | 3650 | 5300 3600 6300
140 33 35 6313 6313 ZZ VvV DDU 6313 N NR 7250 | 5750 4800 3400 6000
70 90 10 1 6814 - - - 6814 N NR 950 | 1030 7000 - 8000
10| 16 | 15 | 6914 - - - 6914 N NR | 1860 | 1770 | 6500 - 7500
10| 13 |1 {16014 - - - - - | 2180 2110| 6000 — 7100
110 | 20 | 2 | 6014 6014 ZZ VV DDU 6014 N NR | 2980 | 2660 | 6000 3600 7100
125 24 2.5 6214 6214 2Z VvV DDU 6214 N NR 4900 | 4000 5000 3400 6000
150 35 35 6314 6314 2Z VvV DDU 6314 N NR 8150 | 6550 4500 3000 5300
751 95| 10| 1 | 6815 - - - 6815N NR | 985 | 1120 | 6300 - 7500
05| 16 | 15 | 6915 - - - 6915N NR | 1910 | 1880 | 6000 - 7000
15| 13 | 1 |16015 - - - - - | 218 | 2110 5600 — 6700
15| 20 | 2 | eo1s| 60152z vv DDU 6015 N NR | 3100 | 2870 | 5600 3400 6700
130 | 25 | 25 | 6215 62152z Vv DDU 6215N NR | 5150 | 4400 | 4800 3200 6000
160 37 35 6315 6315 2ZZ Vv DDU 6315 N NR 8300 | 7400 4300 2800 5000




AR

80~105mm

(O] (e)

2z w DDU N NR

EEHik(mm) £ K B % BAEREENe | BREE (pm)
o 5 iaifz‘ji"é‘ oty

(1) (1) |i&E3m EB| C co A HE

d D B v \RAE s lamacee | 7+ 227 DU | AR
1\ BFEBTE WK oouRy  z W
80| 100| 10 {1 |686] - — — | 6816NNR | 990| 1160| 6000 — 7100
10| 16 | 15| 6916] —~ — — | 6916 N NR | 1950| 1990| 5600 — 6700
15| 14 [ 1 |16016] - - - - = | 2500| 2470| 5300 - 6300
125 | 22 2 6016{ 6016 ZZ VvV DDU 6016 N NR 37501 3400 5300 3200 6300
140 | 26 | 3 | 6216| 62162Z VWDDU | 6216 N NR | 5700| 4750| 4500 3000 | 5300
170 | 39 35 | 6316 6316 ZZ VvV DDU 6316 N NR 9650 | 8300 4000 2700 4800
85 |110] 13 | 15| 6817] — - — | 6817NNR | 1470| 1630| 5600 — 6700
120 18 | 2 | 69170 ~ - — | 917N NR | 2500| 2470| 5300 - 6300
130 14 [ 1 |6017] - - - -~ | 2570 2630| 5000 - 6000
130 | 22 2 6017 6017 ZZ vV DDU 6017 N NR 3900 | 3700 5000 3000 6000
150 | 28 3 6217} 6217 ZZ vV DDU 6217 N NR 6600 | 5600 4300 2800 5000
180 | 41 4 6317| 6317 ZZ VvV DDU 6317 N NR | 10400{ 9250 3600 2600 4500
90 | 115| 13 | 15| e818] — - — | 6818N NR | 1490 1700 5300 - 6300
125 18 | 2 | 6918 — — - | 6918 N NR | 2570| 2630| 5000 — 6000
40| 16 | 15 |16018] ~— - - - — | 3250 330| 4800 - 5600
140 | 24 25 | 6018 6018 ZZ vV DDU 6018 N NR 4550 | 4300 4800 2800 5600
160 | 30 3 6218| 6218 ZZ VvV DDU 6218 N NR 7550 | 6450 4000 2600 4800
190 | 43 4 6318 6318 ZZ VvV DDU 6318 N NR | 11200 | 10200 3400 2400 4300
95120 | 13 | 15| 6819] ~ — — | 6819NNR | 1510 1780| 5000 — 6000
130 18 |2 | 6919l - — — | B919N NR | 2640 2780| 4800 - 5800
145 | 16 | 15 [16019] ~ - - — = | 3350 3500] 4500 — 5300
145 | 24 25 | 6019| 6019 zZzZ vV DDU 6019 N NR 4750 | 4600 4500 2600 5300
170 | 32 35 | 6219| 62192z Vv DDU 6219 N NR 8550 | 7400 3600 2400 4500
400 | 45 4 6319 — - - 6319 N NR | 12000 11300 3000 - 3600
100|125 | 13 | 15| 68200 — - — | 6820N NR | 1530| 1850| 4800 — 5600
10| 20 | 2 | 620 - - - | 6920N NR | 3400| 3500| 4500 — 5400
150 | 16 | 15 [16020] — - - - = | 3400| 3700 4300 - 5000
150 | 24 25 | 6020 60202ZZ vV DDU 6020 N NR 4750 4900 4300 2400 5000
180 | 34 35 | 6220 6220 2zz vv DDU 6220 N NR 9600 | 8450 3400 2400 4200
25| 47 | 4 | 8320 -~ — -~ — - |13600|13500| 2800 - 3400
105 130 | 13 1.5 | 6821 - - - 6821 N NR 1560} 1930 4800 ~ 5600
145 | 20 6921 — - — | 8921 N NR | 3300 3500| 4300 - 5200
160 | 18 | 15 [18021] — - - ~ = | 4050| 4250| 4000 - 4800
160 | 26 3 6021| 6021 ZzZ VvV DDU 6021 N NR 5700 | 5600 4000 2400 4800
190 | 36 35 | 6221 6221 2z vv DDU 6221 N NR | 10400| 9500 3300 2100 4000
250 49 | 4 | e321] - - - ~ = |14400]14700| 2600 - 3200

10




AwE 110~160mm

|
B A
PR y o4 v DDU N NR
FEHiE(mm) £ & B % AKXEBHE ke HBRR & (rpm)
ISR | meEE
y 1 1 #i Bl C | Co |AME
a | o |8 | ¢ |maw ) Wi an 22 7. 777 DU W MR
V- W # DDUK 7 #
110} 140 16 15 6822 - - 6822 N NR 2490 2890 4300 - 5000
150 20 2 6922 — - — 6922 N NR 3400 3700 4000 - 5000
170 15 1.5 | 16022 - - - - - 45001 4750 3800 - 4500
170 | 28 3 6022 6022 zZZ VvV DDU 6022 N NR 66501 6250 3800 2200 4500
200 38 35 6222 - - - 6222 N NR 11300 | 10600 2800 — 3400
240 50 4 6322 - —_— - -_ - 16100 | 17200 2500 — 3000
120 | 150 16 15 6824 — - - 6824 N NR 2510 | 3050 4000 - 4800
165 22 2 6924 - - - 6924 N NR 41501 4500 3800 — 4500
180 19 1.5 116024 - - - - - 4750 | 5350 3600 - 4300
180 28 3 6024| 6024 ZZ VV DDU 6024 N NR 6900 | 6850 3600 2000 4300
215 40 35 6224 - - - - - 12200 | 11900 2600 — 3200
260 55 4 6324 - —_ - - - 16200 | 17400 2300 - 2800
130 | 165 18 2 6826 - - - 6826 N NR 28901 3550 3600 - 4300
180 24 2.5 6926 - - - 6926 N NR 5100} 5600 3400 — 4100
200 22 2 16026 - - - - - 5950 | 6450 3000 - 3600
200 33 3 6026 - - = 6026 N NR 8300 | 8600 3000 - 3600
230 40 4 6226 - - - - - 130001 13200 2400 — 3000
280 58 5 6326 - —_— - - - 18000 | 20200 2000 - 2600
1401 175 18 2 6828 - _ - 6828 N NR 2920 3700 3400 - 4000
190 24 25 6928 - - - 6928 N NR 52501 5950 3200 - 3800
210 22 2 16028 - - - - 61001 6850 2800 — 3400
210 33 3 6028 - - - - - 86501 9200 2800 - 3400
250 42 4 6228 — - - - - 13000 | 13300 2200 - 2800
300 62 5 6328 —_ - - - - 19800 | 23200 2000 — 2400
150 | 190 20 2 6830 — - - 6830 N NR 3750 | 4750 3200 — 3600
210 28 3 6930 - - - - - 6650 | 7500 2800 — 3200
225 24 2 16030 - _ - - - 6800 | 7950 2600 -— 3100
225 35 3.5 6030 - - - -_ - 9800 | 10400 2600 - 3100
270 45 4 6230 - - - - - 13700 | 14700 2000 - 2600
320 65 5 6330 - - - - 21600 | 26300 1800 - 2200
160 | 200 20 2 6832 - - - 6832 N NR 3800 | 4950 2800 — 3200
220 | 28 3 6932 - - - - - 6550 7550 2600 — 3000
240 25 2.5 116032 - - - — - 7550 | 8950 2400 — 2900
240 38 35 6032 - - - - - 10700 | 11500 2400 — 2900
290 48 4 6232 - - - - - 14500 | 16200 1800 - 2300
340 68 5 6332 - - - - - 21800 | 26600 1700 - 2000

11




HE 170~240mm
FEE(mm) X B % AETBEEKH|  ABRREE(rpm)
d | o8| r [mmm S TR | A
BEE | BHE A

170 | 215 22 2 6834 - 47001 6050 2600 3000
230 28 3 6934 - 67501 8000 2400 2900

260 28 2.5 116034 - 8950 | 10500 2200 2700

260 42 35 6034 - 12600 | 13700 2200 2700

310 52 5 6234 - 16600 | 19500 1800 2200

360 72 5 6334 - 25600 | 33500 1600 2000

180 225 22 2 6836 - 4750 | 6350 2400 2900
250 33 3 6936 - 8600 | 9950 2200 2600

280 31 3 16036 - 11300 | 13200 2000 2500

280 46 35 6036 - 14100 | 15900 2000 2500

320 52 5 6236 - 17700 | 21200 1700 2100

380 75 5 6336 - 27800 { 38000 1500 1900

190 | 240 24 2.5 6838 - 5750 | 7600 2200 2700
260 33 3 6938 - 8850 | 10500 2000 2600

290 31 3 16038 - 11700 | 14000 2000 2400

290 46 35 6038 - 14700 | 17200 2000 2400

340 55 5 6238 - 19900 | 24900 1600 2000

400 78 6 6338 - 27800 | 38000 1400 1800

200 | 250 24 25 6840 - 5800 | 7900 2200 2600
280 38 35 6940 - 112001 13200 2000 2400

310 34 3 16040 - 13100 | 15900 1900 2300

310 51 35 6040 - 16200 | 19400 1900 2300

360 58 5 6240 - 21000 | 27200 1500 1900

420 80 6 6340 - 29700 | 41500 1300 1700

220 | 270 24 25 | 6844 - 6000 | 8500 1900 2400
300 38 35 | 6944 - 11500 | 14000 1800 2200

340 37 3.5 16044 - 14100 | 18100 1700 2000

340 56 4 6044 - 18400 | 23300 1700 2000

400 65 5 6244 - 24300 | 33000 1300 1700

240 ( 300 28 3 6848 -_ 7700 | 11000 1800 2100
320 38 35 6948 - 12100 | 15600 1700 2000

360 37 3.5 | 16048 - 15300 | 20100 1600 1800

360 56 4 6048 -— 19200 | 25200 1600 1800

440 | 72 5 6248 - 26500 | 38000 1200 1500

1

12






